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General Instructions:

1. All questions are compulsory.

2. The question paper consists of 31 questions divided into four sections A, B, C and
D. Section-A compyises of 4 questions of 1 mark each; Section-B comprises of 6
questions of 2 ma ch; Sectigp-C comprises of 10 questions of 3 marks each and
Section-D comprises

3. There is no over

4. Use of calcu is itted.
Eug-3 / SECTION-A
T 4¥ T 1 3 T
Q nnu 0 4 carry one mark each

1 T, 500 m G T 3R St & 91 R 1200 m IR H AR A T | SHH! yRfw g A G 1
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A girl walks 500 m towards east and then 1200 m towards north. Find her '

starting point.

2 AfEsing — cosB=0,0 < 6 < 90°F, A 6 H T FId HIFTT|

If sin@ — cos8=0, 0 < 6 <90°, find the value of

3 M RN : 3 cot260° + sec245°

Evaluate : 3 cot260° + sec245°

4 gfe 25 Rayoil 1 HIEA 27 § 99T Wik W&o H, 7 &t

If the mean of 25 observations is 27
the new mean ?

0.

St , < 7 e @ g2

bservgtjon is decreased by 7, then what will be

WUs-d / SECTION-B

T e 5 9 107 W 3F T

Question numbers 5 to 10 car m each.
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1250 .

After how many M the rational number 12> terminate ?
1250

7 k & fog o Yl wHteRr g &1 U 3R e T 7 82 2
; 2r+ky=6 ' |
o - .

%ﬂ;e of k does the pair of equations given below has a unique solution ?
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10

In a rectangle ABCD, E is a point on AB such that AE= = AB.
gle | :

then find the length of DE.

WA HIT :
1+ tan’ A
1+ cot” A
Simplify :

1+tan2 A

1% gat® A

59 ABCD ¥, E Yo AB W @ fag ® fF AE= —i—AB%I afz AB=16m,
DE @1 oIl 1 iy |

et e &< #, 50 forenfeial gru Wi fg 9 faw e gl
IR 0-20 |20-40 |40-60 |60-80 |80-100
Toafet #t 7 10 5
; Y
g a1 R ‘aﬂ@:
Ina daés test btained marks as follows :
ads ~J0- 50-40 140-60 160-80 |80-100
obtained §K>
AN
6 25 10 5

PN

el class and the median class.

@UE-W / SECTION-C

o9 @ 119 20 § TAE &I 3 3F T
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Question numbers 11 to 20 carry three marks each.

1 TH R WA SR STINHT §El &1 VRS U IReE e § 2
AR U URAT W& € 91 STufEy e §7 gt da gfe

Is product of a rational number and an irrational number, a r.

On dividing X =X —3x +3x+2 by a polynomial
and 2x respectively. Find g(x).

TR — X + A F AT 2~ 2

If two zeroes of a polynomial x3~ 4)(2 ar Vzand 2+ V2, thenlfind'the third zero.
frfafaa Yaw gHteor 3m #i faaa fafa @ ga wife : , : 3
2x+3y=7 |
3x—2y=3
Solve the following pair ar equations by the elimination method :

“2x+3y=7

3x—2y=3

cH ﬁ?lTAC2=BC2—AB2%‘, 1 fag FIfY PA2=PB x CP \0\ 3

A BC and AC?*=BC?~ AB?, then prove that PA*=PB x CP | \\\

05)
S

98 %
Page 5 of 11 _ X’O h‘/@\\ / &291 2o,



16 AABCﬁﬂWCHHHﬁW%IHﬁBCﬂHwﬁﬁD%F?ff&l@ﬂﬁﬁ't{AB2=4ADz—3AC2. \/

AABC is right angled at C. If D is mid-point of BC, then prove that AB*=4AD’

17 werafient fag IS

£ § : 1 = 1 o
sec x T tan x cos x cos x sec x — tan X
Prove the identity :

1 o 3 s 1 i
sec x T tan x cos x cos X sec x

18 4festana=4%, @ fas AT :

’;cA = cosec A

(i)

Vsec A T cosec A

1~ sinA _

(i)

1+ cos A

If 3tan A=4, then prove that:

4 sec A ~ cosec A _
(i) J =

sec A T cosec\
sy 1~ sin A
(i) e =

1t cos A

@&
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. 19 farell gomh &
/\ :
I ) [140- |160- [180- |200- |220- | 240- 260-
//7 160 |180 |200 |220 |240 |260 |280
0 3 8 15 |40 50 |30 10
sl

zﬁﬁymw‘ﬁmtm’wm@?
Mo

(in units) of some families of a locality is given in the

consufhption of electricity
following frequency distribution :
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Monthly consumption | 140- | 160- | 180- | 200- | 220- | 240- | 260-
(in units) 160 |[180 |200 (220 |240 |260 | 280
Number of families 3 8 15 40 50 30 10
Draw a “less than type” ogive for the above data.
20 a1 iz & fog, @ ‘9 F9 F THR' H TR0 G q97 39 956 9§
WI<Aich 20 §(30%|40F |50 ¥ |60 ¥ | 70 H/[ 80 & N0 ¥
%H HH [hH |HH | hH | FHH\\FH %H
. , Voraasi '
farenfeai st we 77117° 40" %'60 é\xss 90 | 100
k i
For the following distribution, draw a ‘less type’ c@i@ and from the curve, find the
median.
Marks obtained le |less |less A\_.\ less )lgss less |less | less
ss | than <>than @ than | than | than
th |30 0 60 70 80 90 100
an \
20 D
Number of students | 2 | 7 17 40 60 82 85 90 100
! \ EUg-g [/ SECTION-D
W e 211 H14 3% § |
Quest® carry four marks each.
21 %H'T%ﬁaﬂmwn%fmnq,nﬂmmsﬁ@wWﬁ#@mﬂ 4

fa 2l

Prove that only one of the numbers n—1, n+1 or n+3 is divisible by 3, where n is any
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23

24

25

positive integer. Explain. _ \/

T 9§ AT 3 AT STHHA-SIEETE SR THTd o SATHHie 97T 379+ 7 o fafs iq 4

© 9 g=El w @Y & fau @ < & frewa fean ]
1

24433 —4x2+ax+b F T H A foma o1 wEAr € SR I9F W
fepart a1 9 AR 2 — 5 1 SEA 7oAt wreRt ki it <k forg T HifST |

I oAfed St 71 I 2

An old person decided to donate most of property agd \asse

2x4+ 323 —4x% +ax +b and the number of orph
left over amount he kept for his remaining life j

What is the inspiration of old man ?

QI SiR! F TH WA F bl H R e TeEY W WIE W, g W % ah T 4
Y 9 &Y T | HE&A I FIfST |

The difference of digits of a two digit number is 5. Also number obtained on reversing the digits is 9
less than the three times of the original number. Find the number.

UG 24 — 23—~ 19x2 + & 1991 —3 ¥ TEF Tt Y= T T

Find all other zeroes e polyfiomial 2x*—x3—-19 ¥2+9x+9, if two of its zeroes are 1 and

i

FHEI] AABC A DI E, BC 31 gufifm #2 €, o f #1976 8 AE2=3 AC2+5AD2®1 4

B'Q))D B

Page 8 of 11



(i) cosP. cosR — sinP. sinR

(i) tanP — tanR

1 * tanP. tanR .

In APQR, if PQ: QR : PR = 8:15: 17, then evaluate. ' \ '
(i) cosP. cosR — sinP. sinR %

= tanP — tanR
(ii)

1 * tanP, tanR

= ﬂﬁwsecﬁfcotA=m%,ﬁ'TE§ﬁ§l{1ﬁ?:::1= SATI D 4
If cosecA + cot A = m, show that
i

30 i € g ARl U s % At & feamn T | _ 4
s @

100- 200- 300- 400- 500- 600- . | 700- 800-

(2 ) 200 1300 ? 500 |600 |700 |800 |900
R I FeA g\\\ 11 B |5 4 3 2

mﬁaaa‘zw%mﬁ ' q ' 3fue & WehR' Rl QIR0 WifET | :
The table% w shows the weekly expenditures on food of some households in a
locality : Y :

TN
Wi

100- | 200- |300- |400- |500- |600-° |700- | 800-

o 200 300 | 400 500 600 700 800 900

5 g0 13 |5 g4 -|5 2

&%g?w . of
ho olds

Draw a ‘less than type’ ogive and a ‘more than type’ ogive for this distribution.
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31 e Seal s % RO, w5 a9 ' afis % weR @ dRer S 4

i 020 |2040 |40-60 |60-80 %
TRERT 5 12° |20 11 //3\\5

a1 QWA o J@ FC | X
For the following frequency distribution, draw a ‘less type’ dbgive and a ‘more than type’

ogive :
Y
Class 0-20 20-40 /4(1@ 66-80—" 80-100
AN
Frequency 5 12 420 1 2
RS
Also, find median from the curves. @ _

&
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